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Q.P. Code given on the right hand side of the question paper should be written
on the title page of the answer-book by the candidate.

(iii) o1 A= HL & Toh 39 AT H 35T 7 |
Please check that this question paper contains 35 questions.
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Please write down the serial number of the question in the
answer-book before attempting it.
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10.15 St fohaT ST | 10.15 91 & 10.30 Sl T ST hadl JH-97 i gl 3R 39
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15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on the
answer-book during this period.
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57 J97-97 4 35 Fv7 & | @t 3o7 sfAard & |

T8 Y9797 qid @S] 4 f[ayifaa 8- &, @, W, GG & /

GUE & 4 Jv7 G&T 1 & 18 7% Tglascdid (MCQ) TR & Uh-Uek 3% & J97 & |

gva@ﬁywy’@ng g 25 d% 3fd Tg-3TIT (VSA) FHR & g1-31 37H] & Jo7
/

Qg T 7 J97 T&7 26 @ 30 7% TG-FT0T (SA) IHR & di7-A1 371 & J97 3 |

GUE T 7 Jv7 T&I7 31 T 83 % FH-ITT (LA) FHR & Gia-qiel 3Hl & J97 &8 |

GUE T 7 97 G 34 79T 35 HH-STHIRT FAR-AR %] & F77 & /

Jo7-97 § GHY [dHeq 787 397 T 8 | JEf6, @8 @ & 2 YIA §, @O T & 2 I

g; GUS 7 & 3 Yo H T @US T & 2 J¥I H HaRkF ldHcq FHT JIEET 13397 T
/

Fopeict HT IFINT afdd & |

Yifaeh 9] & HEicT@d q, Savaal S7ar ITIT &1 :

c=3x10%m/s

h =663 x 10734 Js

e=16x10"17C

Uo = 4m X 107" Tm AL

gg = 8854 x 10712 C2 N1 m~2
1

471:80

=9x 107 Nm?2C2

ST 1 Go3HM (my) = 9-1 x 1073 kg

=g 1 GeIWH = 1-675 x 10727 kg

TIei T geI|H = 1-673 x 10727 kg
ARG T&AT = 6-023 x 1023 gfaq 7 Wi (per gram mole)

e fame = 1-38 x 10723 JK!
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This question paper contains 35 questions. All questions are compulsory.

This question paper is divided into five Sections - A, B, C, D and E.

In Section A — Questions no. 1 to 18 are Multiple Choice (MCQ) type
questions, carrying 1 mark each.

In Section B - Questions no. 19 to 25 are Very Short Answer (VSA) type
questions, carrying 2 marks each.

In Section C - Questions no. 26 to 30 are Short Answer (SA) type questions,
carrying 3 marks each.

In Section D — Questions no. 31 to 33 are Long Answer (LA) type questions
carrying 5 marks each.

In Section E — Questions no. 34 and 35 are case-based questions carrying
4 marks each.

There is no overall choice. However, an internal choice has been provided in
2 questions in Section B, 2 questions in Section C, 3 questions in Section D and
2 questions in Section E.

Use of calculators is not allowed.

Use the following values of physical constants, if required :
c=3x10%m/s
h =663 x 10734 Js
e=16x10"19¢C
Up=4nx 107" Tm A~
gp =8-854 x 10712 C2 N1 m~2
1

471:80

=9x 107 Nm?2 C2

Mass of electron (m,) = 9-1 x 10731 kg

Mass of neutron = 1-675 x 10727 kg
Mass of proton = 1-673 x 1027 kg

023 per gram mole

Avogadro’s number = 6-023 x 1
Boltzmann constant = 1-38 x 10723 JK1

Page 3 of 23 P.T.O.


https://www.collegebatch.com/exams?utm_source=pdf

55/3/1

@ collegebatch con

EE
(O]

«us

HIs o forell foga &= Eﬁ(1-6x10—16N)AiaawaﬁmW%|

(a) (1-0x103 %)/i\ (b) -(1-0x103 %)/i\
(¢) (1-0x1073 %)Ij\ d -(10x103 %)Ai
fefefga & 9 - v safew ufyr 7287 8 2

(a) fagaem (b)  dleedn

(c) SIREBE NI (d) wf®

fordt =TTt | SIFZMI o SAUATE o HRUT YR I-cd BT 7
CHEMEIEX LIRS

(a) mneAvy (b) = lA;Vd
(c) r;;f (d nevy

fFefTRad o 8 IF-81 7% forelt B @’ s =1 TS o gRIaTs! Y d’
" gl v W B HHH I8k T8 o Grehld & o GRATI o for=ror o

(a) (b) (c) (d)

A

THETH 9TV = vo, i + Vo, | 9 TGEM GoAAH m ST AR g B B
Torelt graehia &= §>:B03\ % TSI H TN KAl 7 | PO GHI UIEq $HT TGH

# fopelt forega 89 E =, | %1 o feerer ot ot foan o 2 |

ST T giCoTHY ger B

(a) X-ZWﬁaﬁéﬂﬁ
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SECTION A

A -
An electron experi_e;nces a force (16 x 10716 N) i in an electric field E .
The electric field E is:

A A

(@) (10x103 N)] B —(10x103 N)j
C C
A A
(© (1:0x108 ] @ —0ox108 )]
C C

Which one of the following is not a scalar quantity ?
(a)  Electric field (b)  Voltage
(c) Resistivity (d)  Power

The current density due to drift of electrons in a conductor is given by :
(symbols have their usual meanings)

(a) neAvy (b) “;"d
(c) r;\: (d nevy

Which of the following graphs correctly represents the variation of the
magnitude of the magnetic field outside a straight infinite current
carrying wire of radius ‘a’, as a function of distance ‘v’ from the centre of
the wire ?

B B B B
I
|
0 T 0 a T 0 r 0 a r
(a) (b) (c) (d)

|
|
|
|
a a

A particle of mass m and charge q moving with a uniform velocity
A A —> A
V= Vog 1+ Yoy j enters a region with a magnetic field B = B j . After

- A
some time, an electric field E = E; j is also switched on in the region.

The resulting path described by the particle will be :
(a) acircle in x-z plane

(b)  a parabola in x-y plane

(c) a helix with constant pitch

(d)  a helix with increasing pitch
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An inductor, a capacitor and a resistor are connected in series across an
ac source of voltage. If the frequency of the source is decreased gradually,
the reactance of :

(a)  both the inductor and the capacitor decreases.
(b)  inductor decreases and the capacitor increases.
(c) both the inductor and the capacitor increases.

(d)  inductor increases and the capacitor decreases.

The electromagnetic radiations used to kill germs in water purifiers are
called :

(a) Infrared waves
(b) X-rays
(¢) Gamma rays

(d)  Ultraviolet rays

In the wave picture of light, the intensity I of light is related to the
amplitude A of the wave as :

(@ I oA

(b) I « A

(c) I o« A2
1

In a single-slit diffraction experiment, the width of the slit is halved. The
width of the central maximum, in the diffraction pattern, will become :

(a)  half
(b)  twice
(¢)  four times
(d)  one-fourth
Page 7 of 23 P.T.O.
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10. et arg & foro fRid fava (y-31&1 @) qen smdfoa fafeRton it smafd (x-31&
W) & T UT% ATeiRad fohm TR ] | UT6 W W T Sl JAUTdT TR Sedei

T TS oh YT ST TOEHA BT
(a) h
w2
C
© 2
C
h
(d) %o

11. R B 2:14 eV h1 TREl 919 W TG 6-4 x 1014 Hz T TR I
T 2 | 3cald SAdei-l hl ATeehad i ol I ST :

(a) 0:25eV
(b)  0-51eV
(c) 1-:02 eV
(d 010eV

12. R % AieA H TREISH o WaeH Sl auR it T Icafsia Temr i Afeehan
AR AR | AR 1 STII BT 3

(a) —

—

b 2
© 2

11
9
5
7
16
7

(d)
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10. A graph is plotted between the stopping potential (on y-axis) and the
frequency of incident radiation (on x-axis) for a metal. The product of the
slope of the straight line obtained and the magnitude of charge on an
electron is equal to :

(a) h
b 2

(c) —
C
h

(d) 20

11. Light of frequency 6-4 x 10'* Hz is incident on a metal of work function

2:14 eV. The maximum kinetic energy of the emitted electrons is about :

(a) 025eV
(b) 0-51eV
(c) 1:02 eV
(d 010eV

12. The ratio of maximum frequency and minimum frequency of light

emitted in Balmer series of hydrogen spectrum, in Bohr’s model is :

(a) —

—

(c) —

b 2
1
16

11
9
5
7
@
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(a) 3x105m=3
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14. It A p-n G e wwaleler srfyd &, 1 -
(a) Uftres fave =e a1 2 |
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V:VO 0
T
=0 EStSTa;%Q
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At a certain temperature in an intrinsic semiconductor, the electrons and
holes concentration is 1-5 x 10'® m=3. When it is doped with a trivalent

dopant, hole concentration increases to 4-5 x 1022 m-3. In the doped

semiconductor, the concentration of electrons (ne) will be :
(@ 3x10°m3
) 5x10" m3
(© 5x10° m3

@  675x10°® m-3

If a p-n junction diode is reverse biased,

(a) the potential barrier is lowered.

(b)  the potential barrier remains unaffected.
(c) the potential barrier is raised.

(d)  the current is mainly due to majority carriers.

A voltage signal is described by :

v=V forOStsg

=0 forgStST

for a cycle. Its rms value is :

Vo
(a) NG
(b)  V
Vo
(c) 5
@ V2V
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Questions number 16 to 18 are Assertion (A) and Reason (R) type questions. Two

statements are given — one labelled Assertion (A) and the other labelled Reason
(R). Select the correct answer from the codes (a), (b), (c) and (d) as given below.

16.

17.

18.

19.

20.

55/3/1

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.

(d) Assertion (A) is false and Reason (R) is also false.

Assertion (A) : The internal resistance of a cell is constant.

Reason (R):  Ionic concentration of the electrolyte remains same during

use of a cell.

Assertion (A) : When radius of a circular loop carrying a steady current is

doubled, its magnetic moment becomes four times.

Reason (R): The magnetic moment of a circular loop carrying a steady

current is proportional to the area of the loop.

Assertion (A): The nucleus ;X 1s more stable than the nucleus gY .

7 .
Reason (R): 3X contains more number of protons.

SECTION B

A wire of length [ is in the form of a circular loop A of one turn. This loop
is reshaped into loop B of three turns. Find the ratio of the magnetic
fields at the centres of loop A and loop B for the same current through
them. 2

What is meant by the term ‘displacement current’ ? Briefly explain how

this current is different from a conduction current. 2

Page 13 of 23 P.T.O.
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% o0 Igeh sH@T 2 | qUi-adT st AR STd-au fosesrt & «ff= favwem
T | 2

Qug 1

26. TR [ 3N THOAN TITEA-HE &THRA A o Thel Tt o & W HIg
fawa=a V S5 Toham T 8 | (31 ekl I HId Wad ) IlG (a) VRl
AT 3R (b) L =1 3f1an K fean S, b () fogga &7 E, (i) 3f9amg o vy, 3R
(iii) o0 O9cd j T TepR guTiard B 2 3

27. FUSRN % A &b FAA Wehed H R AT 7 ? q AR FHIE
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oS3 1y 3 1y (ry > vp) THA &, & AT Wehed o ToIT otk 9T SHIT | 3
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21. (a) State Huygens’ principle. How did Huygens explain the absence of
the backwave ? 2

OR

(b) Use Huygens’ principle to show reflection/refraction of a plane wave
by (i) concave mirror, and (ii) a convex lens. 2

22. The refractive indices of two media A and B are 2 and 2 respectively.
What is the critical angle for their interface ? 2

23. (a) Draw a graph showing the variation of binding energy per nucleon
as a function of mass number A. The binding energy per nucleon for
heavy nuclei (A > 170) decreases with the increase in mass number.
Explain. 2

OR

(b) Using Bohr’s postulates, obtain the expression for radius of nth
stable orbit in a hydrogen atom. 2

24. Explain the roles of diffusion current and drift current in the formation of
the depletion layer in a p-n junction diode. 2

25. Explain the property of a p-n junction which makes it suitable for
rectifying alternating voltages. Differentiate between a half-wave and a
full-wave rectifier. 2

SECTION C

26. A potential difference V is applied across a conductor of length / and
uniform cross-section area A. How will the (i) electric field E, (ii) drift

velocity vy, and (iii) current density j be affected when (a) V is doubled

and (b) / is halved (keeping other factors constant) ? 3

27. What is meant by the term ‘mutual inductance’ of a pair of coils ? Obtain
an expression for the mutual inductance of two long coaxial solenoids,
each of length / but having different number of turns N; and N, and radii
ri and ry (rg > 1r7). 3

55/3/1 Page 15 of 23 P.T.O.
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JHTferd It & ? 3
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HAYAT
(@) () TERAEST T H YhUA BV (0) Sl HaAd HHH HEd
Tehifuta Ul <hl &A1 (N) o fa=ior o1 geie & e ster@ (Um)
= |
(i) 39 AQ ¥ o S 91 @ Tt <kl geg 4 == hife 31t
foafigu for 3 form PR T A A A @ T AR AT E | 3

55/3/1 Page 16 of 23



28.

29.

30.

55/3/1

®collegebatch con

EE
(O]

(a) An ac source v = v, sin ot is connected across an ideal capacitor.
Derive the expression for the (i) current flowing in the circuit, and
(ii) reactance of the capacitor. Plot a graph of current i versus ot. 3

OR

(b) A series combination of an inductor L, a capacitor C and a resistor
R is connected across an ac source of voltage in a circuit. Obtain an
expression for the average power consumed by the circuit. Find
power factor for (i) purely inductive circuit, and (ii) purely resistive

circuit. 3

Calculate the wavelength of de Broglie waves associated with a proton

having (%) eV energy. How will the wavelength be affected for an

alpha particle having the same energy ? 3

(a) (i) Prove that the nuclear density is same for all nuclei.

(ii)) Draw a plot of potential energy of a pair of nucleons as a
function of their separation. Draw two inferences from this
plot. 3
OR

(b) () Draw a graph to show the variation of the number of scattered
particles detected (N) in Geiger-Marsden experiment as a

function of scattering angle (0).

(i1) Discuss briefly two conclusions that can be drawn from this
graph and how they lead to the discovery of nucleus in an
atom. 3
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SECTION D

Define electric flux and write its SI unit.

Use Gauss’ law to obtain the expression for the electric field

due to a uniformly charged infinite plane sheet.

A cube of side L is kept in space, as shown in the figure. An

- A
electric field E = (Ax + B) 1 % exists in the region. Find the

net charge enclosed by the cube. 5
AY

OR

Define electric potential at a point and write its SI unit.

Two capacitors are connected in series. Derive an expression

of the equivalent capacitance of the combination.

Two point charges + q and — q are located at points (3a, 0) and
(0, 4a) respectively in x-y plane. A third charge Q is kept at
the origin. Find the value of Q, in terms of q and a, so that the

electrostatic potential energy of the system is zero. 5
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32. (&) () Tl =1 poech NI o1 fagra fafau i saeh! fspamfafy
&1 sreT hifee | foRd) fiea et 1, 3Tk sEt ®9 H, TR
g § ar A9 6 fow Iu T R S Hehan B | I 2

Gi) P T Feeh Aedenie i graEE o o i a E oS

f;h%‘l EEJRASCEICIRS I % ? 5
Frorat
@) () o gRaTd JAR TR %k NF W FEEhT &F & [T Sk
REEIIE
() wfogreeha dqrd i g ugd & e faved w9
#is a farg fafy | 5

33. (%) () =shar oo R o fopell staqa qor o |mH g w’ W e ferell
fore & aredfaes Wfdfsrs o o°4 1 g9 & fw fommr sm@
i | 38 TR, u 3R R % qal 4 gldfars gl & % fog geg
g1 <hIfT |
i) fHHl 1 m BT gl & ITA AE & FHA 1-8 m ARIE H Hig
Sqith " ¥ 5 m ! g W @S & | o oo icifores < feurfd
3R HeIE T T | 5

AT

(@) () TrE BgeTeR ®E % 50 9 9 al R s R
AU ! S o T fomor R EifT | 30 TR, A9
(W o ToTT 50 10T (A) 3R =HaH fo=e™ HI0 (8,)  9af |
ey I HIfT |

(i) Torell STada < | % QI Ioai hl Tshal BISATE 20 cm & | ARG <@
&1 &q9dT — 5:0 D ®, A1 & o g1 T U A hifoly | 5
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(b)

(1)
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1)

(i1)
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Write the principle and explain the working of a moving coil
galvanometer. A galvanometer as such cannot be used to

measure the current in a circuit. Why ?

Why is the magnetic field made radial in a moving coil
galvanometer ? How is it achieved ? 5

OR

Derive an expression for magnetic field on the axis of a current

carrying circular loop.

Write any two points of difference between a diamagnetic and

a paramagnetic substance. 5

Draw a ray diagram showing the formation of a real image of
an object placed at a distance ‘v’ in front of a concave mirror of
radius of curvature ‘R’. Hence, obtain the relation for the

image distance v’ in terms of u and R.

A 1-8 m tall person stands in front of a convex lens of focal
length 1 m, at a distance of 5 m. Find the position and height

of the image formed. 5

OR

Draw a ray diagram showing refraction of a ray of light
through a triangular glass prism. Hence, obtain the relation
for the refractive index (p) in terms of angle of prism (A) and

angle of minimum deviation (&,,).

The radii of curvature of the two surfaces of a concave lens are
20 cm each. Find the refractive index of the material of the

lens if its power is — 5-0 D. 5
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HA@ H ST AR 3 Gfgehiati o o= o Jo¥ § $I3 s g1 &ifdor:
3 x 107 m/s & o ¥ GHE g | $7 Ufghrall o g g IUYH [T
IIIH foham T B Tfeh Sotareia Il fH=rell Ufgeht o fohR @ 3ieh-3leh by |

T
> 1cm
je— 3 cm —)
ST o YR W F=faiiaa Tl o I e
(%) TrIR @ THUA | 15 ST TehaT HHI T 2 1
(@) 3w o U I ATHid 71 7 IR =i 2 1
()  SAITH AT’ Fa HIT | 2
S DE|

() dfgepredi @ W= b YW H 39 T & o AT AR foun Hi wma
HNT 8 s I ol formr foaifud gu de S o fow 3coa fomn
ST =T | 2

forelt a%q & AT, a1 MR Jehrer I dTeed & qed |, I TN 0T i
g1 Jeht=1 Wl foaady sgard g | foaad areaa | fortor Sehriemehl sl Eie
R ohtdT & | TeRIiRIeh I3 o T dHTd gehter <Al qureed g [Huifa i
STt B | ToRet Tohd-feil o foada e o U o W i UTifes Sewe
SRR STl R |

ST o IMYR W F=faIRaa yei & S dfT

() A Thm1 < qIged # gfg & I, ql hg Iass Hi =gk fh

YR g BTt 2 1
(@) v Fferse area i i = I | 2 1
()  sAfaeRter 3R faada Teat & e @ 3= fafau |
Jroran

(W) 2 Toremeff v 10 m S w1 TSI SR g T m % IR W E | AR
et T I AT JohR T T aE] & Fohai W g Tehdt &, a1 il
i o foenell tsh-gmt =l @ T8l uid F=GU 9 9" § FAEE 8 Frdiey
forg PR T UTd B 2 2
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SECTION E

A beam of electrons moving horizontally with a velocity of 3 x 107 m/s
enters a region between two plates as shown in the figure. A suitable
potential difference is applied across the plates such that the electron
beam just strikes the edge of the lower plate.

T

—> 1cem

fe— 3 ecm —3|

Answer the following questions based on the above :

(a)
(b)
(c)

(c)

How long does an electron take to strike the edge ?
What is the shape of the path followed by the electron and why ?

Find the potential difference applied.
OR
Find the magnitude and direction of the magnetic field which

should be created in the space between the plates so that the
electron beam goes straight undeviated.

Diffraction of light is bending of light around the corners of an object
whose size is comparable with the wavelength of light. Diffraction
actually defines the limits of ray optics. This limit for optical instruments
is set by the wavelength of light. An experimental arrangement is set up
to observe the diffraction pattern due to a single slit.

Answer the following questions based on the above :

(a)

(b)
(c)

(c)

How will the width of central maximum be affected if the
wavelength of light is increased ?

Under what condition is the first minimum obtained ?

Write two points of difference between interference and diffraction
patterns.

OR

Two students are separated by a 7 m partition wall in a room 10 m
high. If both light and sound waves can bend around obstacles, how
is it that the students are unable to see each other even though they
can converse easily ?
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